55 1 26950 2N 35 -3 = k% B
]'E“%j 12-1 1087 2 fx 4 B 8 & 4 3= 53 #Ru

T

55— HATMELE R RBTA R BRSO MR FEE 0 33 A
g\‘&/ﬂﬂ \—\‘ P,f@]%?ﬂ\@]?;}’.lfgo

- N RA AT AgEEihy £ A B Coaiae ARt B - e BB
Bk 3ty - AAFE e (leaves) B ﬁx ( Count the number of nodes in a
binary tree and count the number of leaf nodes in a binary tree,
respectively ) - (25 » )

struct node({
int info;
struct node *left;
struct node *right;

}

typedef struct node *NODEPTR;

void countTree (NODEPTR tree) {

}

void countLeaves (NODEPTR tree) {

)

I NS e - RSBy 24 0 8- C ke 4258 swapTree (NODEPTR
tree) #¥-= - g% ~ + 8L 4% (Swap the left and right children of
every node of abinary tree) - (25 ~ )

struct node({
int info;
struct node *left;
struct node *right;
}

typedef struct node *NODEPTR;

void swapTree (NODEPTR tree) {

}
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void divide&conquer (int x[], int 1lb, int ub,
{
int a, down, temp, up;
a = x[1b];
up = ub;
down = 1b;
while (down < up) {
while (x[down] <= a && down < ub)
down++;
while (x [up] > a)
up--;
if (down < up) {
temp = x[down];
x [down] = x[up];
x[up] = temp;
}
}
x[1b] = x[upl;
x[up]l = a;
} *pPj = up;
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